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Enerpy of n charped conductor is
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(A) wall increase (B) will decrease
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The electric ﬁ@ a distance ' r ' Trom the nxis of a

charged eylindrical conductor of infinite length will be
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The electric intensity insi ‘hnrgcd hollow sphere is
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(C) constant v (D) variable

. \

CL.

| Coantinued



(0 Page 7
oy

(A) rmrs:w_-ﬂ_‘m r % 1Al P
(©€) 7 W ygmEmgEd Am ) 2 ‘Qmwgrm 7
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(A} proportional to vg

(B) inversely proportional to r
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(A) decreases

(C) remains same

(B) increases

(D} becomesy zero
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i ' capacitances 6 pF and 4 uF are put in x
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What is the dielectne constant of n metal ?
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(C] Conservation of momentum

D] Conservation of mnus J

9, @ﬁaﬁ:ﬁrgammmmﬁme¢
(A) N=anda 2 IBIQQF&RH’I

Sl et
The electromotive I‘c@n cell is measured by

(A) gnlvnnnm:t%z (B) voltmeter

fd'l (C) pntcntinnyﬂ (D) nonc of these

Ak @
Ry
. —. A A



er-tecec!d 03 A Orqy A t

(A) T+ 9fatiy o&
(1) 133 ofagy ‘.0

(D) Rvarm 0@

Wheatstone bndlé@nuun:a

(Al Hiph rrsis&ct

(13} Low resistance




€) Both high and low resistances

(D) Potential difference @
_ 31 Inm'dﬁuarén}:mmu.’runm&rﬂﬂmmﬁ

equal picces and conncected in parallel combination then

. eaumvnlent recietnnecs Al the caeabaloaeio o oo fts 1 _

We



32 oftm-uy niess
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(A)  Power vc’ (B) Charge

(C) Enerpy 90 (D) Potential difference
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(A)  Power (B) Charge

(C) Enerpy (D) Potential gifference
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Magnetic moment Wmngnﬂ is
(A) Scalar qu& (B] Vector quantity
(C] Neutral quantiy (D) None of these
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(C) Magnetic force between two currents
D) Electric force between two charges
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(A)  Increases (B) decrecases
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P rnnaplic of conservation of enerpy
D) r'riﬂr.'ip}c of conservation of momentum
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The most suitnble m@mnking clectromapnet is
A Sottiron _@
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v -V
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[ The current flowing through the materinl
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